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H & 0l & AFS Z Al A
20228 Z20l4a LESIH AEFAC
SHT AEEAG
Mm@y omg 2%

&R ZEIH WAL &5 (el &3
SA SR (S) - MRAY - BAS il &t i RS2
ACFRC 845,523 319,987 525,536
22 olEet A 759,000 265,560 493,440

SSSH HOYAL &= 661,000 265,560 395,440
Hotit QMAIE T3 At 449,000 208,060 240,940

201 Ler2gd| 135,000 194,060 259,060
01 AFS 22l bl 135,000 189,060 254,060
O QM3 0|2I BEES
100,000,000 *14] 100,000
o= =< 100,000 & 202! 33| 6,000
O&EIt MHE =Y 3,000,000& 53] 15,000
CEE=SMH 500& *5, 0005 *23] 5,000
QAT HEXZA A2F P2 5,000,000 14! 5,000
OZzIY RINE=+ 4,000,000 *14] 4,000
202 o44| 9,000 9,000 0
01 = LHGYI 9,000 9,000 0
OAE AXl F& (] 100,000 *321+302] 9,000
203 PR F2Y| 5,000 5,000 0
03 Al =X 2= XH| 5,000 5,000 0
OAEHX HR2F 5,000,000 =14 5,000
401 Al HI L2 0HHI 300,000 0 300,000
01 A&l 300,000 0 300,000
OHZIIGEEI ME2 FIEZAL 29X
300,000,000& 14 300,000
ZHSJEUE’@ SSAIS(MRAZSLME XN AEL) (K 212,000 57,500 154,500
201 LBr2F| 12,000 47,500 235,500
01 AL 22l bl 6,000 0 6,000
OSIEAF=IE 2| 500,000& x12& 6,000
02 2322l 6,000 47,500 A41,500
03222(MIIe2 ¥ AHURS S)
500,000& x 1204 & 6,000
401 Al HI L2 0HHI 200,000 10,000 190,000
01 A&l 200,000 10,000 190,000
OME X T JILtAl4d sXlI2eldl
50,000, 0002 14 50,000
OZgEetA=XE RXl2el 150,000,000 141 150,000
Nz D=0 =& 98,000 0 98,000
dotdt SHHH 60,000 0 60,000
201 LBr2Fd| 60,000 0 60,000
03 A2 H| 60,000 0 60,000
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S ATERC
MM py omg P&
SR AHEls T2 08 FA (el &
SA B SRA(EH) - MRAY - BAS 0f &t i HIDE
| ogll724gHl 60,000, 0003 14| 60,000
ANAZS 22 e 38,000 0 38,000
207 AN E I 38,000 0 38,000
01 A= 38,000 0 38,000
OXtcdlst 2 8 19,000,000 14 19,000
OMHXNE=&H 19,000, 0003 14| 19,000
HH I (A=) 86,523 54,427 32,09
el 2| 52,037 31,223 20,814
QA2 I (A=) 52,037 31,223 20,814
101 2124H| 52,037 31,223 20,814
01 E2= 52,037 31,223 20,814
Oozuz2=2+g 10,8412 %1021 x480A| 2t 52,037
Jlzgl 34,486 23,204 11,282
Jl2ZHI(A =) 34,486 23,204 11,282
201 £et24E| 18,486 12,404 6,082
01 AtR2telH 18,486 12,404 6,082
oggt=E4| 11,250,000& 14| 11,250
CE=Eis 32,000 x11&~123 4,224
(©)=bNj=3 3,011,040 14! 3,012
202 044 13,000 8,700 4,300
01 =W HHI 13,000 8,700 4,300
OgR=a Jl=0i 13,000,000 141 13,000
203 R =2lY| 3,000 2,100 900
04 EN2SYERFAH 3,000 2,100 900
ORN2ILR=2AHI 250,000 x12& 3,000
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